Loveless, Allen, and Derry: Complete Criminal Law 6th edition, Chapter 1

Correct answers are marked with an asterisk (*).
Type: multiple choice question
Title: Chapter 01 - Question 01      

01) In terms of criminal law theory, what is the fundamental rationale for criminalizing conduct?
a. Immorality

Feedback:  Incorrect.  Most serious crimes will also be immoral but this is not necessarily the reason for criminalizing such conduct.

Section reference:  1.2
*b. Harm to others or to oneself
Feedback:  Correct.  See JS Mill.  However, it is not always easy to identify or to define harm in some offences.

Section reference: 1.2
c. Anti-social conduct

Feedback:  Incorrect.  The correct answer is 'Harm to others or to oneself'.  However, it is not always easy to identify or to define harm in some offences. Most serious crimes will also be immoral but this is not necessarily the reason for criminalizing such conduct.

Section reference: 1.2
d. Dishonesty
Feedback:  Incorrect.  See (a) and (b).  Dishonest conduct may be harmful to either individual or collective rights but the criterion of ‘harm’ is wider than this.

Section reference: 1.2

Type: multiple choice question  

Title: Chapter 01 - Question 02

02) Which of the following cases were NOT concerned with the inter-relationship of the criminal law and morality?
a. Shaw

Feedback:  Incorrect – The case concerned conspiracy to corrupt public morals with reference to a publication listing prostitutes.

Section reference: 1.2
b. Knuller
Feedback:  Incorrect – The case concerned conspiracy to outrage public decency with reference to a publication regarding homosexuality.

Section reference: 1.2
c. Brown

Feedback:  Incorrect. The case concerned the defence of consent to assault occasioning actual bodily harm and grievous bodily harm during consensual homosexual sado-masochistic conduct.

Section reference: 1.2
*d. R (on the application of McCann) v Manchester Crown Court
Feedback: Correct. The case concerned the burden of proof required for applications in respect of anti-social behaviour orders.

Section reference: 1.2

Type: multiple choice question    

Title: Chapter 01 - Question 03

03) Which of the following is NOT a regulatory offence?
a. Failure to pay income tax

Feedback:   Incorrect.  No mens rea is referred to in the offence definition and therefore it is an offence of strict liability and regulatory in nature.

Section reference: 1.2
b. Driving without due care and attention
Feedback:   Incorrect.  This is a regulatory offence under s3 Road Traffic Act 1988.  No mens rea is required and therefore it is an offence of strict liability. 

Section reference: 1.2
*c. Burglary

Feedback:   Correct.  This is a serious offence requiring intention contrary to s9 Theft Act 1968.  It is not therefore regulatory or one of strict liability.

Section reference: 1.2
d. Failure to maintain a safe system of work
Feedback:   Incorrect.  This is a regulatory offence contrary to s2 Health & Safety at Work Act 1974: ‘It shall be the duty of every employer to ensure, so far as is reasonably practicable, the health, safety and welfare at work of all his employees’ including in subsection (2) the provision and maintenance of plant and systems of work that are, so far as is reasonably practicable, safe and without risks to health.
Section reference: 1.2

Type: multiple choice question   

Title: Chapter 01 - Question 04

04) Which of the following represents the ratio of Woolmington [1935]?
a. A person wishing to rely on a defence must prove it.
Feedback:  Incorrect – This would correctly describe a number of statutory offences which cast a burden of proof onto a defendant wishing to plead relevant statutory defences.  It is also the case with the defences of insanity and diminished responsibility.  However, Woolmington concerned the common law offence of murder to which this statement does not apply. 

Section reference: 1.3
b. The legal burden of proof is on the prosecution on a balance of probabilities.
Feedback:   Incorrect – The prosecution bear the legal burden of proving all elements of an offence beyond all reasonable doubt.

Section reference: 1.3
c. A defendant who has committed a guilty act must be presumed guilty.
Feedback:  Incorrect.  Anyone accused of a crime is entitled to the presumption of innocence, ie: they are innocent until proven guilty beyond all reasonable doubt.

Section reference: 1.3
*d. The legal burden of proof is on the prosecution beyond all reasonable doubt subject to the defence of insanity and certain statutory defences.
Feedback:   Correct.  The presumption of innocence means that a defendant is innocent until proven guilty.  S/he should not, therefore, have to prove their innocence.  There are certain exceptions:  insanity/diminished responsibility/some statutory offences.  

Section reference: 1.3

Type: multiple choice question  

Title: Chapter 01 - Question 05

05) Which of the following is an either way offence?
a. Assault

Feedback:  Incorrect.  This is a summary offence, ie: one that can only be tried in the magistrates’ court.

Section reference: 1.4
b. Murder
Feedback:  Incorrect.  This is an indictable only offence that can only be tried in the Crown Court.

Section reference: 1.4
*c. Theft

Feedback:   Correct.  This will be tried in either the magistrates’ or Crown Court depending on the seriousness of the case.

Section reference: 1.4
d. Robbery
Feedback:  Incorrect.  This is an indictable only offence triable in the Crown Court alone.

Section reference: 1.4

Type: multiple choice question  

Title: Chapter 01 - Question 06

06) The prosecution wish to appeal on a point of law from a case heard at the High Court on appeal from the magistrates’ court.

To which court should they appeal?
*a. The Supreme Court

Feedback:  Correct. The prosecution may appeal with leave to the Supreme Court.

Section reference: 1.4
b. Court of Appeal
Feedback:  Incorrect. The prosecution may appeal with leave to the Supreme Court.

Section reference: 1.4
c. Crown Court

Feedback:  Incorrect. The prosecution may appeal with leave to the Supreme Court.

Section reference: 1.4
d. Divisional Court
Feedback:   Incorrect.  The prosecution may appeal with leave to the Supreme Court.

Section reference: 1.4

Type: multiple choice question  

Title: Chapter 01 - Question 07

07) What is the hearing called for determining jurisdiction in the magistrates’ court for an offence triable either way?
a. Committal proceedings

Feedback:  Incorrect.  This applies to indictable offences. 

Section reference: 1.4
b. Plea and Case Management Hearing
Feedback:   Incorrect.  This applies to indictable offences.

Section reference: 1.4
c. Plea before Venue

Feedback:  Incorrect.  This is where D in an either way case pleads guilty or not guilty. 

Section reference: 1.4
*d. Mode of Trial
Feedback:  Correct.  This is where D has the right to elect for Crown Court trial.  If s/he wishes to remain in the magistrates court, the magistrates decide whether to retain jurisdiction and try the case or to send it to the Crown Court.  

Section reference: 1.4

Type: multiple choice question  

Title: Chapter 01 - Question 08

08) Which Article of the European Convention on Human Rights protects the presumption of innocence?
*a. Article 2

Feedback:  Incorrect.  This protects the right to life. 

Section reference: 1.6
b. Article 3
Feedback:   Incorrect.  This prohibits torture.

Section reference: 1.6
c. Article 6

Feedback:   Correct.  Article 6(2) protects the presumption of innocence.

Section reference: 1.6
d. Article 5
Feedback:  Incorrect.  This protects the right to liberty.  

Section reference: 1.6

Type: multiple choice question  

Title: Chapter 01 - Question 09

09) Which Article of the European Convention on Human Rights protects the right to privacy?
a. Article 11

Feedback:  Incorrect.  This protects the right to freedom of assembly. 

Section reference: 1.6
b. Article 7
Feedback:  Incorrect.  This prohibits retrospective crimes. 

Section reference: 1.6
c. Article 10

Feedback:  Incorrect.  This protects the right to freedom of expression. 

Section reference: 1.6
*d. Article 8
Feedback:   Correct.  This protects the right to respect for private and family life. 

Section reference: 1.6

Type: multiple choice question   

Title: Chapter 01 - Question 10

10) In relation to which section of the Human Rights Act 1998 must all legislation, if possible, be interpreted so as to be compatible with the ECHR?
*a. S3.

Feedback: Correct.  This section enables a court to review relevant legislation and to issue a ‘declaration of incompatibility’ if it is considered to be in breach of the ECHR.

Section reference: 1.6
b. S6.
Feedback:  Incorrect.  This refers to the need for compatibility by public authorities with the ECHR. 

Section reference: 1.6
c. S7.

Feedback:  Incorrect.  This refers to the procedure for enforcing ECHR rights. 

Section reference: 1.6
d. S1.
Feedback:  Incorrect.  This lists the Convention (ECHR) rights.  

Section reference: 1.6
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